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Instructions: Section B
e Set out work clearly Question 1 /13
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SECTION A
20 questions - 1 mark each.
(Answers only in the ANSWER column).
QUESTION ANSWER
1. Expand 5x(2x-7)
2. Express 3570000 in scientific notation

3. Find the area of the parallelogram

A0
I
: 9.4 cm

12.7 cm }
I

VAl e

N\

15.8 cm

NOT DRAWN TO SCALE

4. This spreadsheet shows winners of a book award

B

Author
Frances Clarke | A Town’s Lament
Jill Saunders Kitten and Snake
Jeff Hardy The Quiet Room

‘What is the content of cell B3?

(A) 2003

(B)" Jill Saunders

(C) Kitten and Snake
(D) Jeff Hardy

5n+3:8 |
6 \

5. Solve the equation.
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QUESTION ANSWER

o

Change 8-104x1077 to its basic numeral

7. Find the perimeter of the triangle (1 decimal place)

14 cm 8 cm
NOT DRAWN TO
o  SCALE
8. Write {/y’ in full index notation
9. Solvethe equation. ~ (y+5)* =36

w

L

10. Estimate the result of

9.476x17.489

11. Factorise fully

12m> —9m?

12. Change the subject of the equation to 7.

k=mn-y

13. A rectangular swimming pool is 25 metres long by 8
metres wide and is surrounded by a path of width 1 metre.
‘What is the perimeter around the outside edge of the path?
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QUESTION

ANSWER

14. The students of Jones High School need to purchase their
own textbooks. This spreadsheet shows the cost of each
textbook to be purchased by Felicity Howard, a year 9
student.

| Felicity Howard

| Textbook

| Mathematics

| English

| Science

{ History

Creative Arts

1
2
3
4
7
9

If the formula =B4-+B5+B6+B7+B$ is entered into cell B 1, what value
is shown in B1?

15. A rhombus has one diagonal equal to 12 cm and has an
area of 78 cm”. What is the length of the other diagonal?

16. Express 27 kg/h in g/s.

L

17. Simplify by expanding the brackets.

(27x6y3)%
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Questions 18. and 19. relate to the following spreadsheet.

This spreadsheet shows the times taken for a group of students
to each walk 50 metres. The speed of each student was
calculated using a formula.

Name B Spee& (m/s)
Sarah 2.00

| Ben - 227

| Alex 1.85
Cynthia 1.67.
Rhys 2.78
Michael 2.63

| Ellen 2.50
Maria ' 3.13

18. What formula could be entered into cell C2 to get the
result shown (the formula must use a cell address)?

19. After entering the formula into cell C2, which option
allowed the formula to be copied into the remaining cells?

(A) Cautand Paste (Cy Fill Down

(B) Replace (D) Sort

20. Write the inequality that is represented by the diagram

End of Section A
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SECTION B

Show all necessary working in the space provided.
Question 1 — (13 marks) Rational Numbers — Show all working

(a) Evaluate giving your answer in scientific notation correct to 3 significant figures.
() 4.86x107 +5.97x107 , 1

() 3.75x10° +6.28x10"

(b) A worker in a local factory earns $12.72 per hour.
@) How much does she earn in a 40 hour week?

(ii)  If she receives the same amount for the week’s work but only
works a 38 hour week, what will be her new hourly rate to the
“fiearest cent?

(¢) The temperature at 2:30 pm was 11° C and fell steadily until it reached —2° C at
1:45 am. Find the average rate of decrease per hour correct to 2 decimal places.

MARKS
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Question 1 (cont’d) MARKS

(d) 18 litres of petrol are needed for a car to travel 261 km.
€3] How far would the same car travel on 13 litres of petrol?

1
if ow much petrol would the car use to trave m?
ii Hos h petrol would th 1340 km?
1
2
(e) For the calculation MZ_)_
3.87
) Find the upper and lower boundary estimates
2

(i)  Calculate the answer correct to 2 decimal places.
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Question 2 — (13 marks) Measurement — Show all working MARKS

(2) A circular path with diameters is shown in the diagram. Find the shaded area

correct to 3 significant figures.
NOT DRAWN TO SCALE

18 m

(b) A rectangular sheet of metal has a semicircle cut out of one side as shown. Find the

perimeter correct to the nearest metre.
24m

NOT DRAWN

TO SCALE
— —+ 1lm

5m 7m
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Question 2 (cont’d) MARKS

(c) Find the perimeter of the sector in centimetres correct to 2 decimal places.

NOT DRAWN TO SCALE

120°

14 Icm

cm™

(d) Find the area of the composite shape in et correct to 2 decimal places.

semicircle
9 cm

NOT DRAWN

TO SCALE
10 cm

28 cm
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Question 2 (cont’d) MARKS

(e) Acircle and a square have the same area. If the radius of the circle is 8 cm, find the
length of each side of the square in centimetres correct to 2 decimal places.

(f) Find the size of the angle x° in the sector correct to the nearest degree if its area is
8408, Primn

NOT DRAWN TO SCALE

15 mm
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MARKS
Question 3 — (14 marks) Equations — Show all working
(a) Solve the equations
@ 3(x—2)+3x = 2(7x+6) 5
@ =3
m—4 5 2
Kl\.
\
|
(b) Solve the inequation and display the solution on the number line.
5-3x < -13 2
1 ] ! -'. i kY ;. i

S

i ) IR ISR (AN '53
37 6 1 2 3 4 5§ 1 & a 1
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Question 3 (cont’d)

a® +b?

(¢) Giventhat M = find ¢ when M =97.15 and b5 = 19.65

(d) Solve\fhe‘iﬁquation for x when we know that x is always positive

13 -3x 23+ 2x

(e) Gladys has only 20 cent pieces and 50 cent pleces in her purse. The total value of
these coins is $12.30. She has two less 50 cent pieces than 20 cent pieces. Use x to
represent the number of 20 cent pieces and:

(1) Form an equation from the above information.

(ii) Solve the equation and state how many 20 cent pieces She has in
her purse
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MARKS
Question 4 — (14 marks) Algebra — Show all working

(a) Expand

D) (4x +5) —

@ @x+3) (i) —43—112(4}22 —8n+5)
(b) Expand and simplify

() 2n(Bn—2)-2n-n? () n*-@n+1)2n—1)

A 4

—.
—

(c) Factorise fully , '
(i) 6m’n—12mn + 18mn* (i) Gx+ D+ 1)+50+1)
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Question 4 (cont’d)

(d) Simplify
i &>? () m+m

27

2
I

End of Paper
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SECTION A
20 questions - 1 mark each.
(Answers only in the ANSWER column).
QUESTION ANSWER

Nk 10y+2S =36

¥
Ce+3)y+3)
‘Ql J\0 Y= [
St George Girls High School
Year 9 — Mathematics — Common Test 1 —2008

= L{-l 4%3 %Sld-\-ls

TRt LY+ SO

1. Expand 5x(2x-7)
= 10X 2 ~35x

10x > -35 /

2. Express 3570000 in scientific notation 3.57x) oc
3. Find the area of the parallelogram :
P Q. 4x15.8
A A
: = (48.52% aom?
1 94cm :
12.7 cm ! \/
|
VAl @
NN
15.8 cm
NOT DRAWN TO SCALE

Page 3

QUESTION ANSWER
6. Change 8-104x107 to its basic numeral o mmg\géf/
7. Find the perimeter of the triangle (1 decimal place)

3L\ om \/
14 cm 8em Ceorrect 4o
2 decineal
. NOTDRAWNTO Lowcs.
6.t om SCALE e D

8. Write 4/y? in full index notation

4. This spreadsheet shows winners of a book award

A "B ) C
1 | Year Author Title
~ 2 12001 Frances Clarke | A Town’s Lament
3 12002 Jill Saunders Kitten and Snake
L 4 12003 Jeff Hardy The Quiet Room

‘What is the content of cell B3?

A) 2003
Jill Saunders
) Kitten and Snake

®) JeffHardy

9. . Solve the equation. (y+5) =36 R b

-
, oo N - - U Vi \ %1+]O\dl‘]
w0 T - Loy T Ji ]
e e = - < s
e e [v4 ~
10. Estimate the result of AI%1T7. S
9.476x17.489 605 /
11. Factorise fully Sm; (‘4_m -3 ) 3m1(4m \3)
- 12m® —9m? \/
12. Change the subject of the equation to . = ‘%i-\j
Mm< b:_-\-\ﬂ h \/
k=mn-y %N
mns le,-\-\J

5n+3=8 SN+}=4%
6 LNt a4l
nE Q

5. Solve the equation.

13. Aectangular swimming pool is 25 metres long by 8
metres wide and is surrounded by a path of width 1 metre.
‘What g i}le perimeter around the outside edge of the path?

g
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QUESTION

ANSWER

14. The students of Jones High School need to purchase their
own textbooks. This spreadsheet shows the cost of each
textbook to be purchased by Felicity Howard, a year 9

student.
L A B Cl
"1 { Felicity Howard
2
3 | Textbook Price
|4 | Mathematics $42.85
5 | English $31.45
6 | Science $64.95
.7 | History $23.95
8. | Creative Arts- $18.00
9
L2

If the formula =B4+B5+B6+B7+B8 is entered into cell B1, what value
is shown in B1?

$1€1.20

15. A rhombus has one diagonal equal to 12 cm and has an

area of 78 cm®. What is the length of the other diagonal? lel/\%ﬂ/\ O’F’ H’\R,
D__’l_@c: e 12xX=I%% othor dt&M/
> X=13 5 13 enn
16. Express 27 kg/hin g/s. '
2T000g 1A 18q ¢ V]
4309 v .
1.5qlsec

17. Simplify by expanding the brackets.
(27x6 ¥ )%

3:1? Y
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Questions 18. and 19. relate to the following spreadsheet.
This spreadsheet shows the times taken for a group of students
to each walk 50 metres. The speed of each student was
calculated using a formula.
Name Time(s) Speed (m/s)
Sarah 25 2.00
Ben 22 2.27
Alex 27 1.85
Cynthia 30 1.67
Rhys 18 2.78
Michael 19 2.63
Ellen 20 2.50
Maria 16 3.13
18. What formula could be entered into cell C2 to get the
result shown (the formula must use a cell address)? 50 + RO=E \/
50 + B2 \

19. After entering the formula into cell C2, which option
allowed the formula to be copied into the remaining cells?

(A) Cut and Paste

(B) Replace ®) Sort

A

GG
»~-@

*

2<xga /

End of Section A
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SECTION B Question 1 (cont’d) MARKS
Show all necessary working in the space provided. MARKS (d) 18litres of petrol are needed for a car to travel 261 km.
Question 1 — (13 ) Rational Numb Show all working @ How far would the same car travel on 13 litres of petrol?
ues — (13 mar] ational Numbers — Sho
14,5 e [ per AR 1
(a) Evaluate giving your answer in scientific notation correct to 3 significant figures. \/
. -3 ]
(G 4.86x107* +5.97x10 / . \8@‘\
-2
G.AG x\O
(i)  How much petrol would the car use to travel 340 km?
223 \Whed 1
() 3.75x10° +6.28x10"

¢ raundea o Wnole W
sqrx10”S /S 2 ) Dnorr

va

. 476+(52)
(b) A worker in a local factory earns $12.72 per hour. (e) For the calculation 7
6] How much does she earn in a 40 hour week?

() Find thé upper and lower boundary estimates
1
$508.80 v

$427=32
(ii)  If she receives the same amount for the week’s work but only

work: our week, what will be her new hourly rate to the A‘
earest cent? 1

)
$|3.§,®ilsbr R Nourly rady

$3CR £O _
S 1%, 29 v

(ii)  Calculate the answer correct to 2 decimal places.

.22 !
v

% (c) The temperature at 2:30 pm was 11° C and fell steadily until it reached -2° C at
1:45 am. Find the average rate of decrease per hour correct to 2 decimal places.

2B - fer \R°C 2
g; “391 118%0f decreqse, oA ous .
- ‘?}% (321,95 -
Vv

1S min
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Question 2 — (13 marks) Measurement — Show all working MARKS Question 2 (cont’d) MARKS
(a) A circular path with diameters is shown in the diagram. Find the shaded area (c) Find the perimeter of the sector in centimetres correct to 2 decimal places.
correct to 3 significant figures.
— NOT DRAWN'TO SCALE > 2932 NOTDRAWN TO SCALE
&=,
254 W - T T Am 29032 3 VAL
— - : g ~
8 m = 175 ™~ > >4 o 00 7.2 oy
l \/ 2
14 cm
=2
2

be GRZ -G
= J xqz“ﬁyfrb
= [#6,929. - @
TIFHo m T

Find the area of the composite shape in paf® correct to 2 decimal places.

@

(b) A rectangular sheet of metal has a semicircle cut out of one side as shown. Find the
perimeter correct to the nearest metre.
24 m
NOT DRAWN semicircle
9
TO SCALE cm
T T Um NOT DRAWN
19 TO SCALE
10cm
2
Sm 7m 28 cm™S
N 1O z
tropez2iorm = C BL_*_*\&D W o= (18 *,2%’%) = 220 cm;
2

24+ 471+ £ S =21 7T wn

‘,&_H/\&J W \\.S -’]\7\/‘(\ -

arcle, = J{_XTL‘& 2 = 12720 o
bl

v~
 Yora) owea s 3™, 2B Omn \/
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Question 2 (cont’d) MARKS

(¢) A circle and a square have the same area. If the radius of the circle is 8 cm, find the
length of each side of the square in centimetres correct to 2 decimal places.

T 200 .Y e 2
o lengiw o(l each stde CF% S quare
' \A R e Caomeg) %des

>

(f) Find the size of the angle x° in the sector correct to the nearest degree if its area is
84085, Prinn2

NOT DRAWN TO SCALE

%ﬁm C{ 15 mm

2
~C J— Y4
30

§4 3 707= 0. 12X 36D

2
3G )L . T 43D

oo the s\ze of the, NG %= 43°
v
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MARKS
Question 3 — (14 marks) Equations — Show all working
(a) Solve the equations
(@) 3(x-2)+3x = 2(7x+6) )
IS~ 643 1A+
\Bx~¢ = 1A+
A —6=)2
A =18
= 4%y \/
2m 3

@ 3m-4 5 2

2w S = 2( 3~ 4)

OMmT Amn=—12
= =~ 1) /
W
(b) Solve the inequation and display the solution on the number line.
5-3x <-13 2
-3x. < -1&
Z i i ] 1} ] [ ] 2 Py ), i 5 > A 7\ x
-3 -} 0 1 2 4 ¢ 1T & a’w
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MARKS
Question 3 (cont’d)
a* +b?

(c) Giventhat M = find a when M =97.15 and b = 19.65

a5 = a>+19.65 S 2

V2
- - -
\163»8\0\1_“‘_\6‘_65 @
i\ £\=é~\8*~s o

TVRB.C8 — o Ccovrrecy s 2 ok"pj

(d) Solve the-ifiequation for x when we know that x is always positive

13 -3x >3+ 2x
13> 349> 2
10 > Sx

22
o< 2, M x70 @
((l O<xé—9-'

(e) Gladys has only 20 cent pieces and 50 cent pleces in her purse. The total value of
these coins is $12.30. She has two less 50 cent pieces than 20 cent pieces. Use x to
represent the number of 20 cent pieces and:

(i) Form an equation from the above information.
X+ S0 )

ool ST 20X+ =T

- 100,

o s e ’ mﬁw 30
20xASOX 1230

70 = 1220 204+ SOW(>C~-2) =[R20

Xo= 19 (if) Solve the equation and state how many 20 cent pieces §he has in
her purse
20x +30 (2] v~
= 20x+Sox -100= 1230F

= 2Oo¥ IS0~ 1320¢
= o = iz3o &

= x.= 19 . \/

Sha O3 1 20 eent precat
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MARKS
Question 4 — (14 marks) Algebra — Show all working
(2) Expand
(1) (4x + 5) (ﬁ) ;43”2(4}12 —~8n +5)
cAN A4 +8D s
— [lo J—
T AN (ANASIHBAXXS)]  TINTTON AR

- S
Tlex? 2o v2ox 42 S/ I~ 2n4 YEnD - —Z\:nl

Tl 2 &O¥%t2LS | /

/

(b) Expand and simplify

@) 2n(Brn-2)-2(mn—-n% (i) n*-(Qn+1)2n-1)
en> —4n 22> i SAN 4
G2 — G @ 202DV 211D
v = An2 2Rt 2n =)

AL - an> =)

— — = )
(c) Factorise fully = 2N ~r- '
() 6m’n—12mn + 18mn’ () @Gr+DE+1)+5(x+1)

Gran(r=2+3n) 3R (G D
\/ CRCHEE TN S N n
=352 T 4% +'S<>t+5 TN

- 3be3"+3’3<’ﬂ’) e WWM

SRR d\olm
4
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Question 4 (cont’d)

(d) Simplify
M «? i) m+m

S 1
M SO [N
A

(¢) Find x
9 =27
Ey
3% 33

2 =3
>A=A
= 1% 3/1 or %

End of Paper



